

## Taylor Transformations into $G^2$

Mulatu Lemma

Savannah State University  
Savannah, Ga 31404, USA  
Lemmam@savstate.edu

**Abstract.** Through out this paper, we assume that  $0 < r$ . The Taylor transformations  $T_r$  are given by the positive, regular matrix defined by

$$a_{nk} = \binom{k}{n} r^{k-n} (1-r)^{n+1} \quad (n, k = 0, 1, 2, \dots)$$

The purpose of this paper is to study these matrices as mappings into  $G^2$ . The necessary and sufficient conditions for  $T_r$  to be  $G^2 - G^2$  is proved. The strength of  $T_r$  in the  $G^2 - G^2$  setting is investigated. Also, It is shown that every  $G^2 - G^2$   $T_r$  matrix is  $G^2$  - translative.

### 1. Introduction and Background.

The Taylor transformations are studied as  $G - G$  mappings in [4]. So, it a natural question to ask if there is a theory for  $T_r$  in the  $G^2 - G^2$  setting that parallels the theory of  $T_r$  in the  $c - c$  setting.

The answer is affirmative, and it produces this paper.

### 2. Basic Notations and Definitions.

Let  $A = (a_{nk})$  be an infinite matrix defining a sequence to sequence summability transformation given by

$$(Ax)_n = \sum_{k=0}^{\infty} a_{nk} x_k \tag{2.1}$$

where  $(Ax)_n$  denotes the  $n$ th term of the image sequence  $Ax$ . The sequence  $Ax$  is called the  $A$ -transform of the sequence  $x$ .

Let  $y$  be a complex number sequence. Throughout this paper, we shall use the following basic notations.

$C = \{ \text{set of all convergent sequences} \}$

$G = \{ y : y_k = O(r^k) \text{ for some } r \in (0,1) \}$

$G^2 = \{ y : (y_k)^2 = o(r^k) \text{ for some } r \in (0,1) \}$

$G^2(A) = \{ y : Ay \in G^2 \}$

**Definition 1.** If  $X$  and  $Y$  are complex number sequences, then the matrix  $A$  is called an  $X$ - $Y$  matrix if the image  $Au$  of  $u$  under the transformation  $A$  is in  $Y$  whenever  $u$  is in  $X$ .

**Definition 2.** The summability matrix  $A$  is said to be  $G^2$  – translative for a sequence  $u$  in  $G^2(A)$  provided that each of the sequences  $Y_u$  and  $Z_u$  is in  $G^2(A)$ , where  $Y_u = \{u_1, u_2, u_3, \dots\}$  and  $Z_u = \{0, u_0, u_1, \dots\}$ .

**Definition 3.** The matrix  $A$  is  $G^2$  .stronger than the matrix  $B$  provided that

$$G^2(B) \subset G^2(A)$$

### 3. The Main Results.

Our first theorem deals with the necessary and sufficient conditions for  $T_r$  to be a  $G^2 - G^2$  matrix.

**Remark 1:** Note that if

$$x \in G^2, \text{ then } |x_k| \leq Mp^k \text{ for some } p \in (0,1)$$

**Lemma 1.** If  $T_r$  is a  $G^2 - G^2$  matrix, then  $0 < r \leq 1$

**Lemma 2.** If  $0 < r \leq 1$ , then  $T_r$  is a  $G^2 - G^2$  matrix .

**Proof.** We will show that  $x \in G^2$  implies that  $T_r x \in G^2$ . Note that  $x \in G^2$  implies that  $|x_k| \leq Mp^k$  for some  $M > 0$  and  $p \in (0,1)$ .

$$\begin{aligned} |(T_r x)_n| &= \left| (1-r)^{n+1} \sum_{k=n}^{\infty} \binom{k}{n} r^{k-n} x_k \right| \\ &= \left| (1-r)^{n+1} \sum_{k=0}^{\infty} \binom{k+n}{k} r^k x_{k+n} \right| \\ &\leq Mp^n (1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{k} (rp)^k \right| \\ &= Mp^n (1-r)^{n+1} (1+rp)^{-(n+1)} \\ &< Mp^n. \end{aligned}$$

Hence,  $T_r x \in G^2$  and thus  $T_r$  is a matrix.  $G^2 - G^2$

**Theorem 1.**  $T_r$  is a  $G^2 - G^2$  matrix if and only if  $0 < r \leq 1$

**Proof** The theorem follows by Lemmas 1 & 2.

**Remark 1.** The fact that  $T_r$  is not a  $G^2 - G^2$  matrix for  $r > 1$  can also be justified by the following example.

**Example .** Suppose that  $r = 3$  and let  $x$  be a sequence such that  $x_k = \left(\frac{1}{4}\right)^k$ .

Then we will show that the sequence  $T_3 x$  is not in  $G^2$ .

$$\begin{aligned} |(T_3 x)_n| &= \left| (1-r)^{n+1} \sum_{k=n}^{\infty} \binom{k}{n} 3^{k-n} x_k \right| \\ &= \left( \frac{1}{4} \right)^n (2)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{k} \left( \frac{3}{4} \right)^k \right| \end{aligned}$$

$$\begin{aligned}
&= \left| 2^{n+1} \sum_{k=0}^{\infty} \binom{k+n}{k} 3^k \frac{1}{4}^k \right| \\
&= 2 \left( \frac{1}{2} \right)^n \left( \frac{1}{4} \right)^{-(n+1)} \\
&< 8(2)^n.
\end{aligned} \tag{3.2}$$

Hence, it follows that  $T_3 x$  is not in  $G^2$ . Thus,  $T_3$  is not a  $G^2 - G^2$ .

**Theorem 2.** Suppose  $r \neq 1$  and  $x_k = r^k$ . Then  $T_r$  a  $G^2 - G^2$  matrix implies that  $\arcsin x \in G^2$ .

**Proof.** The theorem easily follows using Theorem 1 and the inequality

$$x < \arcsin x < \frac{x}{\sqrt{1-x^2}} \quad \text{for } 0 < x < 1$$

**Lemma 3.** If  $T_3$  a  $G^2 - G^2$ , then  $G^2(T_r)$  contains a bounded (non-convergent) sequence.

**Proof.** Let  $x_k = (-1)^k$ . We will show that  $x \in G^2(T_r)$ . Note that

$$\begin{aligned}
|(T_r x)_n| &= \left| (1-r)^{n+1} \sum_{k=n}^{\infty} \binom{k+n}{k} r^{k-n} x_k \right| \\
&= (1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{k} r^k (-1)^{k+n} \right| \\
&= (1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{k} (-r)^k \right| \\
&= (1-r)^{n+1} (1+r)^{-(n+1)}
\end{aligned} \tag{3.3}$$

$$<(1-r)^n .$$

Hence  $x \in G^2(T_r)$  if  $T_r$  a  $G^2 - G^2$  matrix

**Lemma 4.** If  $T_r$  a  $G^2 - G^2$ , then  $G^2(T_r)$  contains an unbounded sequence.

**Proof.** Let  $1 < p < 3$ ,  $x_k = (-p)^k$ , and  $(p-1)/2p < r < 1/p$ . We will show that

$x \in G^2(T_r)$ . We have

$$\begin{aligned} |(T_r x)_n| &= \left| (1-r)^{n+1} \sum_{k=n}^{\infty} \binom{k}{n} r^{k-n} x_k \right| \\ &= \left| (1-r)^{n+1} \sum_{k=0}^{\infty} \binom{k+n}{k} (r)^k (-p)^{k+n} \right| \\ &= p^n (1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{k} (-rp)^k \right| \\ &= p^n (1-r)^{n+1} (1+rp)^{-(n+1)} \\ &< (s)^n , \end{aligned}$$

where  $s = p^n (1-r)^n (1+rp)^{-n}$ . Now the hypothesis that  $T_r$  a  $G - G$  matrix and  $(p-1)/2p < r$  implies that  $s < 1$ . Hence, it follows that  $x \in G^2(T_r)$ .

**Theorem 3.** The  $T_r$  matrix is stronger than the identity matrix in the  $G^2 - G^2$  setting.

**Proof.** The theorem follows by Lemmas 3 & 4.

**Lemma 5.** Suppose  $A = [a_{nk}]$  is a  $G^2 - G^2$

matrix such that  $a_{nk} = 0$  for  $k < n, m > p$  (both positive integers); then  $G^2(A^p) \subseteq G^2(A^m)$ , where the interpretation for  $A^p$  and  $A^m$  is as given in [3, p. 28]

**Theorem 3.** If  $T_r$  is a  $G^2 - G^2$  matrix,  $T_r^m$  is also a  $G^2 - G^2$  matrix (for  $m$  a positive integer greater than)

**Proof.** Let  $x \in G$ .  $T_r$  is a  $G^2 - G^2$  matrix implies that  $x \in G^2(T_r)$ . By Lemma 5, we have  $G^2(T_r) \subseteq G^2 - G^2(T_r^m)$  and hence it follows that  $x \in G^2(T_r^m)$ . Thus,  $T_r^m$  is a  $G^2 - G^2$

The next main result suggests that the  $T_r$  matrix is  $G^2 -$  translative in the  $G^2 - G^2$  setting.

**Theorem 4.** Every  $G^2 - G^2$   $T_r$  matrix is  $G^2 -$  translative

**Proof.** Let  $x \in G^2(T_r)$ . Then we will show that:

- (1)  $Y_x \in G(T_r)$  and
- (2)  $Z_x \in G(T_r)$ ,

Where  $Y_x$  and  $Z_x$  are as definition 2. Let us first show (1) holds.

(3.5)

$$\begin{aligned} |(T_r Y_x)_n| &= \left| (1-r)^{n+1} \sum_{k=n}^{\infty} \binom{k}{n} r^{k-n} x_{k+1} \right| \\ &= \left| (1-r)^{n+1} \sum_{k=0}^{\infty} \binom{k+n}{k} r^k x_{k+n+1} \right| \\ &= \frac{(1-r)^{n+1}}{r} \left| \sum_{k=1}^{\infty} \binom{k-1+n}{k-1} x_{k+n} r^k \right| \end{aligned}$$

$$\begin{aligned}
 &= \left( \frac{(1-r)^{n+1}}{r} \right) \left| \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} r^k \frac{k}{k+n} \right| \\
 &= \left( \frac{(1-r)^{n+1}}{r} \right) \left| \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} r^k \left( 1 - \frac{n}{k+n} \right) \right| \\
 &\leq A_n + B_n \tag{3.6}
 \end{aligned}$$

where

$$\begin{aligned}
 \text{and } A_n &= \frac{(1-r)^{n+1}}{r} \left| \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} r^k \right| \\
 B_n &= \frac{n(1-r)^{n+1}}{r} \left| \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} r^k \frac{1}{k+n} \right| \tag{3.7}
 \end{aligned}$$

Now if we show both  $A$  and  $B$  are in  $G^2$ , then (1) holds. The condition that  $A \in G^2$  follows from the hypothesis that  $x \in G^2(T_r)$ , and  $B \in G^2$  will be shown as follows: Observe that

$$\tag{3.9}$$

$$\begin{aligned}
 B_n &= \frac{n(1-r)^{n+1}}{r} \left| \sum_{k=1}^{\infty} \binom{k+n}{k} \frac{x_{k+n}}{k+n} r^k \right| \\
 &= \frac{n(1-r)^{n+1}}{r^{n+1}} \left| \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} \int_0^r t^{k+n-1} dt \right| \\
 &= \frac{n(1-r)^{n+1}}{r^{n+1}} \left| \int_0^r dt \left( \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} t^{k+n-1} \right) \right| \\
 &= \frac{n(1-r)^{n+1}}{r^{n+1}} \left| \int_0^r t^{n-1} dt \left( \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} t^k \right) \right| \\
 \text{Let } M_n &= \left( \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} t^k \right)
 \end{aligned}$$

Note that  $0 < t < r$  and  $x \in G^2(T_r)$  implies that  $M \in G^2$ . Observe that 3.8, \* and 3.9 implies that

$$B_n = \frac{M_n (1-r)^{n+1}}{r} \quad (3.10)$$

Now  $M \in G^2$  and  $(1-r) \in G^2$  implies that  $B \in G^2$ . Thus, (1) holds.

Next we will show that (2) holds.

$$\begin{aligned} |(T_r Z_x)_n| &= \left| (1-r)^{n+1} \sum_{k=n+1}^{\infty} \binom{k}{r} r^{k-n} x_{k-1} \right| \\ &= \left| (1-r)^{n+1} \sum_{k=0}^{\infty} \binom{k+n+1}{n} r^{k+1} x_{k+n} \right| \\ &= r(1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n+1}{n} x_{k+n} r^k \right| \\ &= r(1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{n} x_{k+n} r^k \frac{k+1}{k+n+1} \right| \\ &= r(1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{n} x_{k+n} r^k \left( 1 - \frac{n}{k+n+1} \right) \right| \\ &\leq C_n + D_n \end{aligned} \quad (3.11)$$

where

$$C_n = r(1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{n} x_{k+n} r^k \right| \quad (3.12)$$

and

$$D_n = nr(1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{n} x_{k+n} r^k \frac{1}{k+n+1} \right| \quad (3.13)$$



By Theorem 1, the hypothesis that  $T_r G^2 - G^2$  implies that  $C \in G^2$ , hence there remains only to show  $D \in G^2$ . Note that

$$\begin{aligned}
 D_n &= nr(1-r)^{n+1} \left| \sum_{k=0}^{\infty} \binom{k+n}{n} \frac{x_{k+n}}{k+n+1} r^k \right| \\
 &= \frac{n(1-r)^{n+1}}{r^n} \left| \sum_{k=1}^{\infty} x_{k+n} \int_0^r t^{k+n} dt \right| \tag{3.14} \\
 &= \frac{n(1-r)^{n+1}}{r^n} \left| \int_0^r dt \left( \sum_{k=1}^{\infty} \binom{k+n}{n} x_{k+n} t^{k+n} \right) \right| \\
 &= \frac{n(1-r)^{n+1}}{r^n} \left| \int_0^r t^n dt \left( \sum_{k=1}^{\infty} \binom{k+n}{n} x_{k+n} t^{k+n} \right) \right|
 \end{aligned}$$

$$\text{Let } P_n = \left| \left( \sum_{k=1}^{\infty} \binom{k+n}{k} x_{k+n} t^k \right) \right| \tag{3.15}$$

Note that  $0 \leq t \leq r$  and  $x \in G^2(T_r)$  implies that  $P \in G$ . Observe that 3.14 \* and 3.15 implies that

$$D_n = \frac{nrP_n(1-r)^{n+1}}{n+1} . \tag{3.16}$$

Now  $P \in G$  and  $(1-r) \in G$  implies that  $D \in G$ . Thus, (2) holds and the theorem follows.

**ACKNOWLEDGMENTS.** I would also like to thank Samera Mulatu, Abyssinia Mulatu, Lela Mikre, Sara Asrat, Sintayehu Jones, Kidus Fekadu, Kirubel Seyoum, Babbi Melaku and Samuel Ephream for their great support and encouragement during my work on this research paper and others.

**REFERENCES**

1. G .H. Hardy, *Divergent Series*, Chelsea Publishing Company, New York, 1991.
2. R.E Powell and S.M. Shah, *Summability Theory and its Applications*, Prentice Hall of India, New Delhi, 1988.
3. Bruce Shawer and Bruce Watson, *Borel's Methods of Summability Theory and Applications*, Clarendon Press . Oxford, 1994.
4. Mulatu Lemma, Taylor Transformations into  $G_w$ , the Southeast Asian Bulletin of Mathematics (2004) 28: 299-304.
5. Mulatu Lemma, Taylor Transformations into  $G$ , accepted and soon to appear in the Southeast Asian Bulletin of Mathematics.

**Received: June, 2009**